| Efficiency vs Dxy |
> 0.5
Pas

R

S VA T A N N -
S o
JE U oS SRS NS NN N NS s e
E r . . . . . . .
(] I S S S S S S

o
w
I

025

: : : * : : ;
9 L.UGIIII:IIII:IIII:IIII ||||:||||:||||:||||
= = o
o : : : ; ; :
i A R R
i 0 i ; ;

5 10 15 20
TP dxy (cm)

t:gngl Yb&éndlveuw 1660evt
C
C
—C

.4€§E %%%ié%ﬁ TELRSLTLIERS 1000evt

0.5

s dz

V.

o
>
T

efﬂmency
o
TTT I-lh

CYET VRIS WSS S S S —

o
w
I

] : ' i :

L : | | £ | [ :

- . HEES ] r. :

[ eeennes ........ - I *' ...........
0.95: : I : s ikl ;

10 20 30
TP dz (cm)

e
=3
e
A
S

-

IO
w2
o

I
N....
o

I
|_\

o
ot



	Contents
	Page 1


